A. Guermani

N.1

1

10
11
12
13
14
15

16

N.3

10
11
12
13
14
15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
12 1/30
165 1724
T7pm| 25 | 504 | 1002 | 2D%0l6m | 5/72
fdbm| 315 | 32 | bt 10,24 m| 7/
162m| 19 190 | 260 324m| /20
0,75m| 120 | 15 30 2251|173
22,05 | 200 | 3 | 126 MqAn| 54
342m| 45 | 56 | 12 33| /2
32 445
FRAM| 324 | 40 | 19D 8lm| 410
15 1/24
28| 220 | 54 | 102 2| 719
72m| 2 190 | 360 RAm| /45
2AD6m| 9 | 320 | 10 0m| %0
30| 27 | 00 | 400 4007 | 340
11,76 m| 135 | 56 | 112 3236m| 33
*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) /360
252 7/10
126 720
Q4| At | 60 | 120 3| 11/15
Itdm| 100 | A2 | % | 51,84m| 512
161,28m| A | L33 | 54 | 829,44 | 73
48m| 300 | 4 | 42 S5#mn| 50
37,8m| 42 120 | 360 A4 | F0
165m| 66 | 300 | 60O o | 1160
20 113
43| 48 0 | 120 36m| 15
B0 5/36
3B | Bb | 432 | QW | 1Rb24 | 11/72
1.6m| 30 40 80 | 10
324m| 40 | 54 | 109 22| 19
46,087| 30 | 72 | %t | 51.84m| ¥4
4536 | 35 | b | B3| 406bDom| 72

*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)

settore-circ_angolo-al-centro_esercizi

N.2

10
11
12
13
14
15

16

N.4

10
11
12
13
14
15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
16 2/45
288 4/5
Q0L | 56 | 360 | 720 LAt | 7145
Q4205m| 88 | 315 | 630 | 992,25 | 1I/45
576 | 250 | Q2L | 57 | 829,44 | 2536
7,92m| 220 | 36 | 72 RApm | /1%
158,4m| 4t | 360 | 720 A6 | 1490
403 | 198 | 160 | 320 2B6| 120
225 5/
Aom| 54 | 120 | K40 144 | 3/20
140 7/18
Brim| 2 | 480 | 460 B30t | 7/120
58,8m| 192 | 105 | 210 | 1ORBm| </15
024|210 | 72 | %%t SLgtm| 712
10,8m| 3 30 | 720 | 1296m| 1120
7,68m| 270 | 32 | bt 4| 3%
*% nota bene: As e Ac devono essere espresse in dm2 (1 dmz = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?)  «/360
23 7/90
168 715
g2m| 109 | 80 | 160 Gt | 3/10
Z3m| 5 It | 233 | 207,36 | /72
098m| 120 | I | 29 1,96m| /2
90| 64 | 225 | 450 | D05 | Y5
56,7m| 2 | 135 | 270 | 192251 | 445
475X | 330 | 72 | Ith SLgtm| W1
24 /15
BRm| 132 | 60 | 10 36m| 11720
b 3/5
AADM| 4 | 450 | 900 | 20251 | 1/90
576m| 160 3 | 72 RAbm| 44
1701m| 84 | 270 | B4 FAm| F30
396m| 99 | 10 | Q40 144 | 1WH0
136,08| 105 | Qb | 432 | 4bDom | F/24

vers. 18/11/2020

*% nota bene: As e Ac devono essere espresse in dm?2 (1 dm2 = 100 cm?)

http://antonioguermani.jimdo.com/




A. Guermani

N.5

1

10
11
12
13
14
15

16

10
11
12
13
14
15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
200 5/6
64 /45
BAm| A7 | 240 | 420 S| 3/40
0241 | 60 12| 24 144m| Vb
68,6m| 12 | 140 | 22D 196 | 7/20
36m| 250 | 7R | It DL TT | 2530
2592m| 5 | 432 | 864 | 1904 | V7R
LB0tm| 160 | 72 | 4% Blgtm| 44
110 11730
QAAm| 33 | 430 | 960 2304 it | 1/120
220 719
WAm| 15 | 168 | 236 | 282%4 M| 1/24
53,76 | Q0 | 4 | 192 AW #12
AT | 45 40 | 9 lom| /%
291,6m| QL | 300 | A0 | 1296m| 940
1,2m| 108 | 20 | 40 Y| 310
*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?)  a/360
40 1/9
315 7/
1n52m| 320 | 36 | 72 1246 | 8/9
10642 | 330 | 108 | b | 116,64 | 11/1Q
4536m| 140 | 108 | b | 116,641 | 719
64,8m| 32 | X7 | 540 FAm| 45
7,35m| A | 35 | 70 RAST| 3/5
1002m| 63 | 240 | 420 A | 740
72 /5
176t | 10 | 252 | B0% | 635,04 | 13
1R 14/45
92w | 42 | 120 | 240 It | 2/15
0,72m| 180 | 12 | 24 | 12
145w | 20 | 162 | 324 | %t | V1D
28,8m| 200 | 72 | % | 51,84m| 51
294m| 96 | 105 | Q0 | 1025m| %15

*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)

settore-circ_angolo-al-centro_esercizi

N.6

10
11
12
13
14
15

16

N.8

10
11
12
13
14
15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
4 11/90
3 17120
LFM| 12 90 | 1?0 Q| 1/30
BOfm| 56 | 190 | 360 324m| 7/%5
198m| 42 | 0 | 1 36| 11720
1458 | 125 | (42 | 1496 | 9904 | 25772
90,72m| 70 | b | 432 | H6bDbem| 73
hm| 100 | 72 | I%% SLgtm| 5/1%
165 10724
Lom| 80 | XF | B4 729m| 1
4 1/90
OlRm| 120 6 12 026m| 1/3
316,8m| QB | 260 | 720 LR | 1145
Stfm| 6 180 | 360 3| V60
28| 252 | 20 | 40 4m| #10
25m| 144 | 25 | B0 051 | 5
*% nota bene: As e Ac devono essere espresse in dm2 (1 dmz = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?)  «/360
a0 1/4
84 720
2AZM| 22 | 540 | 1020 24| 7/90
Sm| 18 | 100 | 200 100m| /20
160,387 | 220 | 1 | 324 | 262,44 1| /1%
534,6m| 66 | 5%0 | 1090 | 11/60
3| 20 00 | 120 | VIR
32| 270 | 24 | 49 BFbm| 3/
9 1740
Lom| 36 Y0 | 20 16m| 10
2D 5/8
3FEZm| 42 | 180 | 30D 324 | 7/60
225m| 324 | 50 | 100 25| 40
abm| 54 | 80 | 160 G| 3/20
1.8m| 28| 15 20 2,25m| 45
1296 | 25 | 432 | QU | 14| 572

vers. 18/11/2020

*% nota bene: As e Ac devono essere espresse in dm?2 (1 dm2 = 100 cm?)

http://antonioguermani.jimdo.com/




A. Guermani

N.9

1

10
11
12
13
14
15

16

10
11
12
13
14
15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
plow 7/10
32 445
| 324 | 40 | lor| 9/10
2698 | 280 | St | 108 | 29,16m| 74
6,47 | It 40 20 16m| 5
1987m| 55 | 360 | 70 A | W7
1,28m| 45 | 32 | 64 W] /2
LAY | 70 | 252 | BO% | 63BOtm| 73
110 11730
324 | 160 | LF | B4 7,29m| 414
3 1/120
2325m | Bh | 135 | 270 | 1925 | 7/45
18| 320 | 45 | 90 | 202b5bm| 91
0m| 21 | 600 | 1200 36007 | 7120
75m| 12 | 150 | 200 225m| 1730
96m| 216 | 40 | | 3/5
*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?)  a/360
2D 5/72
35 7R
QBBm | 5 | 144 | Q82| W73 | 1/72
36| 100 30 2 12,96 | b5/1%
132m| B2 | 60 | 120 36m| 11720
144m| 250 | 4t | Q83| 072367 | 530
0,8lm| %0 A7 | 54 FAm| 14
4221|270 | 24 | 439 BFm| 3
27 3/%0
18m| 72 30 0 9| /5
1024 3/10
1N3L8m| 330 | 36 | 72 146 | 11/12
6,41 | 225 | 32 | 64 W41 | 53
N2Bbm| 8 | 225 | 4B0 | BOGRD M| /45
32m| 19 0 | 10 64m| /20
41,16 | 210 | %% | W< 70501 | F/12

*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)

settore-circ_angolo-al-centro_esercizi

N.10

10

11

12

13

14

15

16

10

11

12

13

14

15

16

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
bl 11/60
24 1715
oL | @4 | 180 | 360 32k | 7/30
103m| 192 | 45 | 40 | 20,25m| <15
39,6m| 4 | 120 | 3 324 | W40
324m| 9 300 | 70 RAbm| /40
126m| 12 | 60 | 120 m| U
Y2om| 96 | 135 | QA | 19225m| #/15
90 1%
3Am| 288 | 0 | %0 4| 45
190 1/2
QIR | 20 72 | Itk SLgtm| 1/18
226,8m| (3 | 20 | 720 RAbm | Fr40
498pm| 240 | 27 | Sk FRAmM| 23
14,58 | QD 2l 162 65,61m| X4
144m| 10 | 72 | % SLgtm| 1736
*% nota bene: As e Ac devono essere espresse in dm2 (1 dmz = 100 cm?)
As ** o r d Ac**  As/Ac
(dm?) (gradi) (cm) (cm) (dm?)  «/360
23 11/45
165 10/ 24
25| 30 50 | 100 251 | 1/10
RApm| 64 | 270 | 540 729m| 45
28,8 | 162 20 160 64| 420
176,4mm| 81 | 290 | 560 7| 440
157,5m| 23 450 | 900 DT FA0
475X m| 33 | 720 | 1440 Bt | W10
315 FR
Q4| 54 Y0 | 20 16m| /20
50 5/36
LA7m| 120 | 21 | 42 Y| 13
252m| U2 | 490 | 180 Q| H45
244m| 150 | 84 | 169 56| B/
67,2m| 163 | 120 | 240 144m| 7/15
11,76 | 15 | W | 336 | 2324 | 124

vers. 18/11/2020

*% nota bene: As e Ac devono essere espresse in dm?2 (1 dm2 = 100 cm?)

http://antonioguermani.jimdo.com/




A. Guermani

niz As™ o r d Ac * As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 50 5/36
2 110 1173
3 396w | | 180 | 340 32471 | 11/90
41 B37em| 21 | 460 | 1920 | 9216m| W
S| 576m| 4 | 720 | 440 | 5184m| VA
6| 2376m| 165 | A2 | 1t | BIRm| 10/24
7| o48m| 2| 2 | 16 OGAT| 3%
8 2207 | 33 | 600 | 1200 | 3600m| 11/120
9 240 23
10 03m| 72 | 2 | %0 am| U5
11 12 14/45
120 w7rm| 300 | 42 | ¥ 1764 | 506
13| 7128m| B6 | 26 | 432 | %65om| 1WA
14\ ©7pm| 25 | 288 | 57 | Q4| 57
51 1134m| 126 | 120 | 260 324m| 20
ol 45m| 20 | 4 | 190 Um| 113
*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm2)
nis As™ a r d Ac *  As/Ac 4
(dm?) (gradi) (cm) (cm) (dm?) /360
1 192 8/15
2 140 /1%
3| 2304m| 6+ | 360 | 720 | 14bm| 8/45
40 10642m| 330 | 102 | A6 | 116,64m| W1
S| a32m| 20 | AR | 4 | 5184m| VIR
6| 176,4m| 81 | 220 | B 4| 440
T1o027m| R0 | 4 | 18 0Lm| 13
8 04m| 36 | 30 | | 110
? 8 /45
101 Qum| 15 | 1 | 2923 |207,36m| /4
11 1 1/40
120 37m| 24 | 75 | 150 | Be2bm| 1/15
13| 288m| 30 | 12 | 36 34| /4
14 05| 42 | 300 | 600 W0 | F0
150 a8m| 27 | %0 | 0 64| 3/40
161 2205|200 | 63 | 126 | 3964m| 54

*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)

settore-circ_angolo-al-centro_esercizi

vers. 18/11/2020

nig As™ a r d Ac* As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 22 4/45
2 198 10/20
3 576m| 16 | 360 | A0 | 1240w | 2/45
4 24m| 150 | 4 | 42 576m| 512
51160387 | 220 | 162 | 324 | 262,441 | W12
61 1575m| 280 | 45 | 40 | 2025m| 74
7 14| 2315 | 40 | 80 | #3
8 16LFm| 132 | 210 | 420 W | 11/20
9 210 /12
101 upam| 162 | 160 | 320 256 71| /20
11 250 25/36
12 23m| 252 | 20 | 40 47| 7/10
131 e48m| 5 | b | 432 | Hbbbm| V7R
T4 1849m| 84 | 90 | 19 QUm| 730
151 729m| 100 | 162 | 324 | 262,44m| 5/13
16 om| 10 | 120 | 360 3| 13
*% nota bene: As e Ac devono essere espresse in dmz (1 dm2 = 100 cm?)
nig AS™* a r d Ac * As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 25 7/72
2 160 4/q
3 24| 225 | 72 | 1t | Bl@tm| 5/8
4 | 90 | 2% | 4% 576m| I/%
S| 384m| B4 | W0 | 30 256 11| 3/20
61 7875m| 56 | 225 | 450 | 506251 | 45
Tl 972m| 3 | 10% [2160| 1bbtm| 17120
8 I#m| 40 | 36 | A2 | RAm| 14
? 144 25
100 1pgm| 108 | 0 | 10 36| 3/10
11 2 3/5
e nom| 449 | 200 | 400 40071 | 11/40
131 243m| 12 | 27 | 540 729m| 1730
T4 12375m| 88 | 225 | 450 | BObRBm | /45
151 108m| 42 | 4 | 190 8lm| 15
161 2376m| 66 | 360 | 720 | 1296w | 1W/60

*% nota bene: As e Ac devono essere espresse in dm?2 (1 dm2 = 100 cm?)

http://antonioguermani.jimdo.com/



A. Guermani

niy As™ a r d Ac * As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 300 5/6
2 63 F/40
3| 123 5 | 32 | o4 10247 | 18
41 bm| 132 | 150 | 300 225 | 11/30
S| 152m| 50 | 222 | 5% | 829,441 | 53
6| 108m| 120 | 1B | 3 324m| 13
Tl a05m| 72 | 45 | 90 | 2025m| /5
8 103m| 30 | 36 | A2 | RAbm| V12
? 25 572
10/ 453pm| 35 | 26 | 32 | 46656 | 772
11 23 11/120
12 bim| 36 | 80 | 0 thm| 110
130 324m| 280 | 26 | 432 | %6bBb7 | 25/36
14 4m| 10 | 180 | 200 24| 13
15 405m| @ | 1235 | 2% |18225m| /45
el 72m| 162 | 40 | ¥ bm| U0
*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm2)
nig AsS™ a r d Ac *  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) /360
1 1 2/45
2 125 25/72
3 63m| 63 | 60 | 120 3| 7/15
4 SAT| 6 | 120 | 360 324m| VW
S| 1029m| ¥ | A0 | 40 441 7| #30
6| 864m| 135 | 43 | 4 | 2B0tm| 3
T 1575m| UR | 225 | 450 | BOGR5 | 4/45
8| amam| 330 | 48 | 4 | 23p4m| Wi
? 288 45
10 QFm| 12 | 4 | 10 81m| 1720
11 24 1/15
121 1m8sm| By | 270 | B40 72| 7145
13/ o2am| 240 | 6 | 12 0367 | 23
141 Bglm| 3 | 840 | 160 | FBem| 1/120
151 1536m| 15 | 192 | 3% | 368,64m| /4
16 5m| 18 | 100 | 200 wom| 120

*% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)

settore-circ_angolo-al-centro_esercizi

vers. 18/11/2020

nig As™ a r d Ac* As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 200 5/9
2 44 10/90
3 92| 192 | 60 | 120 2| 8/15
41 4| 21 | 1020 | 60 | 116647| /120
Slo147m| VI | A | 140 49| 3/10
6| 1408m| 198 | 10 | 30 2867 | /20
7| 51,03m| 220 | 4 | 162 | Bulm| #4
8| 3822m| 5 | 504 | 100 | 25%00m| /7R
? 9 /40
1OV 3027w | 28 | (30 | 1240 | 39697 | F/40
11 220 11/18
12 n2m| 252 | 40 | 0 | 7/10
131 2304m| W0 | 72 | 144 | BIQtm| 44
L&l onpm| 225 | 64 | 123 | 40dem| 5%
151 e86m| 120 | 0 | 220 196 71| 720
16l 192m| 48 | 120 | 240 | 215
*% nota bene: As e Ac devono essere espresse in dmz (1 dm2 = 100 cm?)
noo AS™* a r d Ac * As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360
1 b 11/60
2 4 /40
31 BIQm| 27 | 280 | B 734 | 3140
4 b3m| 20 | 103 | Qb | 116,64m| 112
Sl o17em| 49 | D | W0 64| 11/40
6119404m| 110 | 252 | BO% | (3BT | 11/26
71 588m| 2% | 23 | 56 FRUT| 3/%
8 lb2m| 32 | 135 | 270 | 13225m| 445
2 165 W2k
10V 7dm| 324 | 4 | 190 81m| 410
11 2l 9/40
e Bm| 180 | 36 | A2 | RAbm| 5/12
13| o72m| %0 | 13 | 36 34| 4
T4 174m| 64 | 315 | 630 | 99225m| 45
151 o36m| 40 | 12 | 26 324m| 174
161 1056m| 264 | 120 | 240 | 115

*% nota bene: As e Ac devono essere espresse in dm?2 (1 dm2 = 100 cm?)

http://antonioguermani.jimdo.com/



A. Guermani vers. 18/11/2020

As ** o r d Ac** As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360

As ** o r d Ac ** As/Ac

N2t (dm?) (gradi) (cm) (cm) (dm?)  a/360

N.22

|
1 45 1/8 i 1 9 1/40
2 270 3 | | 2 63 F/40
3 0dbmr| 15 | 48 | b | 230%m| 1/24 : 3 13m| 283 | 15 | 30 | 225m| 4/5
4 45m| 20 | A0 | 190 gim| 112 : 41 38m| 220 | 72 | 4 | 5184m| W1
S| 324m| 2% | 60 | 120 36m| 410 l 5| 2673m| B2 | QW | 540 | 7297| 1/30
6| 64,68m| 330 | ¥ | W | FBbm| 1WIR : ©11069,2m| 33 | 1020 | 260 | 166t | 11/120
7| 9em| Bt | Y | 160 vim| a0 | | 7| 7s6m| A | 30 | 720 | 12dem| 70
8 Y571| 32 | 225 | 450 | BG5BT | 445 : 8| a053m| 42 | 420 | 20 T7A T | /60
9 160 49 I 9 280 ¥4
100 pm| 56 | 4 | 190 gim| #45 | | 10| 1%4m| 84 | 40 | 190 81m| 7320
11 2 1/15 : I 18 1/20
120 wum| Gh | 480 | 460 | 230%m| 11/60 : 120 paem| /| 240 | 40 57| 9/40
13 81| 250 | 103 | 216 | bt | 2530 I 131 m52m| 125 | B | 1152 | 33177 | 25/
4] BLFm| 28 | 270 | B4 | RAm| #D l 4] tiim| 64 | 90 | IR0 | Y45
15 3| 30 | w0 | 10 36| 112 : 51 196m| W | 28 | B 7.84m| U4
16| oasm|aes | 45 | @ | a05m| 5| | 6| os2m 120 | o | 12 036m| 13
**% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm2) | *% nota bene: As e Ac devono essere espresse in dmz (1 dm2 = 100 cm?)
________________________ T________________________
nog AS™ a r d Ac *  As/Ac 6 : noa AS™ a r d Ac * As/Ac
(dm?) _(gradi) (cm) (cm) (dm?) o360 ° (dm?) (gradi) (cm) (cm) (dm?) /360
1 D 2/9 : 1 144 2/5
2 135 3/ : 2 110 11/306
3 12m| 42 | 30 | 00 4| 2/15 : 3| 73Bu| 26 | 35 | | 12251 305
A1 R4m| 16 | 405 | 0 |164025m| 245 | | 4| GLAAm| 140 | 126 | 252 | 158,76 | 1R
S| m25m| ¥ | 25 | 450 | 506,25 | 145 I > l18144m| 35 | ¥32 | Uk |1866,24 1| FF2
6| 31,687| 55 | It | 222 | 2073 1| WA I 61 225m| 40 | 45 | W | 20251 14
7] 1344m| 20 | 43 | 96 | B0m| R I 71 108m| 3 | 30 | 720 | RApm| 1120
81 2%pm| 99 | 320 | 640 | 104m| 1040 l 8| wp5m| 88 | 135 | 270 | 12225 | W45
9 12 v | |0 100 5/12
101 32| 198 | @ | U0 64| /20 : 100 aggm| 200 | 72 | w4 | si184m| 54
11 315 7/8 I 11 2t 11/15
12 4| 300 | 24 | 432 57| 5/6 : 20 256m| 225 | 64 | 122 | 40dbm| 5/8
13/ o5m| 120 | 10 | 20 im| 2 | | 13 72m| B0 | A2 | 144 | SIRm| 53
40 pa4m| 240 | 6 | 12 0367 | 23 : 14 b3m| 252 | 30 | | 0
150 27m| 103 | 30 | W om| 3/10 I 15 216m| 150 | 72 | % | 51,84m| 512
16l 245m| 72 | 35 | A | R2ABr| 15 16 30| 27 | 200 | 400 K0T | 3/40
#% nota bene: As e Ac devono essere espresse in dmz (1 dm? = 100 cm2) #% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm2)

settore-circ_angolo-al-centro_esercizi http://antonioguermani jimdo.com/



A. Guermani vers. 18/11/2020

As ** o r d Ac *  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360

1 25 5/72
2 126 F20
3 4| 12 | 120 | 240 4| 1/30
4 075m| 120 | 15 | 20 225m| 13

5| 8eam| 135 | 43 | 4 | 2304m| 3%

6| 9504m| 165 | 4 | 233 | 20736 | 1/
7| a536m| 35 | Qb | 432 | H65Sem| 72
8| 1w056m| 66 | 240 | 40 5| W6

As ** o r d Ac **  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360

1 0 1/4
2 110 11736
3| BIabm| % | 105 | 20 | W25m| 7/15
41 BARm| 33 | 240 | 420 576 1| 11/120
> 15| 6 | 300 | 600 9007 | 160
61 2016m| 140 | 72 | 4 | BlRtm| 71
7| 3168m| @2 | 20 | 720 |  LAbm| 1045
81 2%qm| 80 | 36 | R | wRabm| 24

N.25 N.26

9 44 1/90 9 270 3/%
100 Qm| 18 | 10 | 320 256 | 1/20 101 12d4bm| 160 | B4 | 103 | 2916m| 44
11 30 1/10 I 100 5/18
12 30m| 192 | 75 | 150 | Bebm| 8/15 120 (akm| 162 | 120 | 240 P | 9/20
131 096m| 240 | 12 | 24 1447 | 23 131 1215m| 24 | 15 | 270 | 1R225m| V15
14 F2m| 200 | 36 | A2 | Rabm| 54 T4l 23,m| 210 | 24 | 4% S5Fm| /12
151 1281|233 | 40 | 0 16| 45 150 1344m| 4 | 240 | 40 576 7| 7/30

161 3168m| 220 | 72 | w4 | Bln| WL

*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm?)

16/ q108m| 30 | 2 | 72 | 112

*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm2)

________________________ T________________________
Noy AS™ a r d Ac *  As/Ac 7 : nog AS™ a r d Ac * As/Ac
(dm?) (gradi) (cm) (cm) (dm?) /360 | (dm?) (gradi) (cm) (cm) (dm?) a/360
1 290 7/9 : 1 102 3/10
2 252 7/10 : 2 225 5/%
3 S| 4 | 75 | 150 | B625m| 4/15 : 3 75| 42 | 75 | 150 | BeR5m| 2/15
41 2q1m| 10 | 3% | 42 |1049,76 | 136 | | 4| BEbm| 4 | 720 | 40 | 5184m| 1740
S|324m| 3% | W | 120 36| A1 I S 1344m| 21 | 40 | A0 | 2304m| 120
6| 1008m| 70 | 7R | % | Blm| 736 I 6 7297T| 250 | 324 | 42 | 108 F 1T | 25/2%
7| 1008m| 23 | 360 | 720 | 46w | #40 I 7| 225m| 1 | 225 | 450 | BObR5T| 245
8| 373m| 42 | 180 | 200 % | 0 l 81 msam| 125 | 576 | 1152 | 3R | 2572
9 45 g | |° 264 115
100 4Qm| 27 | @ | o 647r| 3/40 : 100 gapm| 315 | 32 | o4 | 1024m| #%
11 122 11/30 I 11 55 11/72
120 72| 193 | 120 | 240 1447 | 11/20 : 120 pym| 4 | 80 | 160 G| 9/40
13| aa8m| 3 | 10 | 320 e | F40 | 1 13 sam| B0 | 36 | 72 | RAbm| 512
14\ npam| 5 | 288 | B | Qasm| /72 : 14| p7am| 180 | 12 | 24 | 12
151 396m| 99 | 120 | 240 144 T | W40 I 15 1,2m| 300 | 1 | 24 1,447| 5/b
16/ 294m| 54 | 140 | 220 Mom | 3/20 161 26,88m| 105 | 46 | 142 | 4lm| Fak
#% nota bene: As e Ac devono essere espresse in dmz (1 dm? = 100 cm2) #% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm2)
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As ** o r d Ac *  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360

1 110 11/36
2 21 7120
3| 12365 | A | 135 | 270 | 132251 11/15
41 gam| 80 | B | 12 | 39,69m| 24

S| 1296m| 10 | b | 432 | 466,561 130
61 o72m| 45 | & | 43 5| 13

7| 1782m| 2R | 270 | 540 41| W45
8 Q4T| 150 | 24 | 43 57m| 5/12

As ** o r d Ac **  As/Ac
(dm?) (gradi) (cm) (cm) (dm?) a/360

1 300 5/6

2 25 5/72
S| 3m| 135 | 32 | G4 10247 | 3/8

41 msam| 50 | 222 | 57 | 829,44 1| 530
51106927 | 220 | 02 | Qb | 116,64m| 112
©1388,08m| 55 | 504 | 1002 | 28540067 | 1/ 72
Tl 294m| 6 | %20 | 840 AT | 160
8| a47Bm| 44 | 450 | 900 | 2025m| W4

N.29 N.30

9 15 V2% 9 60 Vo
101 1m0lm| 198 | 160 | 320 256 71| /20 10 Bim| 96 | 4 | 40 | 2025m| 415
11 103 3/10 I 233 4/5
121 ysam| 20 | 144 | 293 | 2073 m| 1/18 120 optm| 240 | 9 | 19 01T | 23
131 192m| 27 | 140 | 320 2867 | 340 131 189m| % | 4 | 180 QUm| F30

141 2247 100 | 108 | 216 Uottm| 513
151 324m| % | 540 |100| 2016m| 1790
16l 2g8gm| 200 | 72 | w4 | Blnm| 54

*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm?)

14 40Bm| 72 | 45 | 40 | 20251| /5
15 30| 3 | W0 |1200] 3600m| 1120
16| 4224m| 165 | 4 | 192 2T | 1WAk

*% nota bene: As e Ac devono essere espresse in dm2 (1 dm2 = 100 cm2)

________________________ T________________________
N31 As ** a r d Ac *  As/Ac 8 : N.32 As ** a r d Ac * As/Ac
(dm?) _(gradi) (cm) (cm) (dm?) /360 ©, (dm?) (gradi) (cm) (cm) (dm?) /360
1 220 11/18 : 1 32k 9/10
2 33 1/120 : 2 35 772
3| g7am| 192 | 135 | Q70 | 19225 m| 8/15 : 3 43m| 42 | 60 | 120 3m| 2/15
4 brm| 9 | 0 |30 | 2s6m| V40| |4 Q| 250 | 102 | b | 116,64 | 2520
> 09m| Mt | 15 | 20 225m| /5 : S| 4536m| 140 | 02 | 26 | 116,647 13
6| 1575m| 28 | 450 | 400 | 2025m| 790 I 6| 324m| 81 | 1 | 240 | 4/
71 2s2m| U2 | 4 | 180 B | 445 I 7 70m| B | 200 | 400 Y0T | /40
8 | 216 | 40 | R o | 3/5 l 8| 6i¥m| 320 | 27 | Bt | F2dm| A
9 16 25| | ° 280 74
100 3onm| 160 | 2F | B4 | 7.20m| %A : 100 7am| 8 | 120 | %0 | 324m| 145
11 bb 11/60 I 11 190 1/2
121 p3m| 20 | 84 | R | 70Bem| 1/12 : 20 qam| 27 | 16 | 22 2BeT| 314
13| 3564m| 99 | 360 | 720 | 1246w | 140 : 13| 2673m| 122 | 270 | 540 | 724w | 1/320
41 (R6m| 126 | 140 | 220 Mom| #20 | | 14| 73Bm| 24 | 105 | 20 | W2Bm| 115
151 161,28 | 70 | 293 | 57 | 829,44 1| 73 I 151 sg32m| 5 | 43 | 129 |4199,041| /72
161 1512m| 42 | 360 | 220 | 1296w | /W 16 21| 210 | W | 120 pm| 12
#% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?) #% nota bene: As e Ac devono essere espresse in dm? (1 dm2 = 100 cm?)
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